09/23

11J30-10878
INSTALLATION INSTRUCTIONS

CONDENSATE PUMP SHELF MOUNTING BRACKET
For 50,000 to 400,000 BTU/HR
HIGH EFFICIENCY GAS-FIRED PROPELLER UNIT HEATERS

1. The assembled mounting bracket (Figure 1) is designed to be mounted directly to and suspended from the
bottom panel.

2. Kitincludes (1) condensate pump bracket mount, (2) 3/8-16 X 3/4" bolts, and (2) 3/8" lock washers.

3. Locate the two 3/8" threaded inserts in the bottom panel. They are left and right of the condensate drain opening.
4. Insert a bolt with a lock washer through one of the top mounting holes in the mounting bracket.

5. Thread the bolt into the insert on the bottom panel of the unit heater (hand tighten).

6. Repeat steps 4 and 5 for remaining bolt, then tighten both bolts.

Figure 1 — Condensate Pump Mounting Bracket

PUMP MOUNTING
BRACKET

3/8" LOCK
WASHERS

3/8-16 X 3/4" BOLTS

CAT-10850A

L ———

e ——
MADE IN THE USA



